Computational Methods for Differential Equations http://cmde.tabrizu.ac.ir Vol. 2, No. 4, 2014, pp. 227-242



# Topological soliton solutions of the some nonlinear partial differential equations

#### Özkan Güner

Cankiri Karatekin University, Faculty of Economics and Administrative Sciences, Department of International Trade, Cankiri-TURKEY E-mail: ozkanguner@karatekin.edu.tr

Abstract	In this paper, we obtained the 1-soliton solutions of the symmetric regularized long
	wave (SRLW) equation and the $(3+1)$ -dimensional shallow water wave equations.
	Solitary wave ansatz method is used to carry out the integration of the equations and
	obtain topological soliton solutions The physical parameters in the soliton solutions
	are obtained as functions of the dependent coefficients. Note that, this method
	is always useful and desirable to construct exact solutions especially soliton-type
	envelope for the understanding of most nonlinear physical phenomena.

**Keywords.** Exact solution; topological soliton solution; the (3+1)-dimensional shallow water wave equation; the symmetric regularized long wave (SRLW) equation.

2010 Mathematics Subject Classification. 26A33, 34A08, 35R11, 83C15.

### 1. INTRODUCTION

Nonlinear problems are of interest to engineers and mathematicians because most physical systems are naturally nonlinear in nature [2]. Nonlinear partial differential equations (NPDEs) are difficult to solve and give rise to interesting phenomena such as fluid mechanics, mathematical biology, diffusion process, chemical kinematics, chemical physics, plasma physics, optical fibers, neural physics, solid state physics and many other fields. It is well known that wave phenomena of optical fibers are modeled by dark shaped  $tanh^p$  solutions or by bright shaped sech<sup>p</sup> solutions. There is plainly a tendency in the modern nonlinear science community to obtain exact solutions for nonlinear equations.

In recent years, new exact solutions may help to find new phenomena. A variety of powerfull methods, such as the tanh-sech method [25, 26, 40], extended tanh method [12, 13, 41], sine-cosine method [5, 42], homogeneous balance method [14, 38], first integral method [16, 34], Jacobi elliptic function method [15, 23],  $\left(\frac{G'}{G}\right)$ -expansion

Received: 9 October 2014 ; Accepted: 10 February 2015.

method [6,39], exp-function method [20,27] and F-expansion method [1,47] were used to develop nonlinear dispersive and dissipative problems.

Solitons are caused by a cancellation of nonlinear and dispersive effects in the medium. Solitons arise as the solutions of a widespread class of weakly nonlinear dispersive partial differential equations describing physical systems. The soliton phenomenon was first described by John Scott Russell. Solitons in a fiber optic system are described by the Manakov equations. Solitons are ubiquitous in nature, appearing in diverse systems such as shallow water waves, DNA excitations, matter waves in Bose–Einstein condensates, and ultrashort pulses in nonlinear optics [22, 24]. Two different types of envelope solitons, bright and dark, can propagate in nonlinear dispersive media. Compared with the bright soliton which is a pulse on a zero-intensity background, the dark soliton appears as an intensity dip in an infinitely extended constant background [32]. Topological solitons are also known as dark solitons in the context of nonlinear optics media. Much experimentation has been done using solitons in fiber optics applications. It is known that topological solitons are more stable in presence of noise and spreads more slowly in presence of loss, in the optical communication systems, as compared to bright solitons [25-34].

This study is purposed topological soliton solutions of constant-coefficient nonlinear wave equations, so we will consider the following three constant-coefficient nonlinear wave equations.

## 2. Symmetric Regularized Long Wave (SRLW) Equation

We consider nonlinear symmetric regularized long wave (SRLW) equation is given by [3]

$$u_{tt} + u_{xx} + uu_{xt} + u_{x}u_t + u_{xxtt} = 0, (2.1)$$

which arises in several physical applications including ion sound waves in plasma [33]. Eq.(2.1) is explicitly symmetric in the x and t derivatives and is very similar to the regularized long wave equation that describes shallow water waves and plasma drift waves [21]. Also, this equation was shown to describe weekly nonlinear ion acoustic and space-charge waves, and the real-valued u(x,t) corresponds to the dimensionless fluid velocity with a decay condition. In 1987, 1992 Guo [18,19] and in 1989 Zheng et al [48] found and analysed the global and numerical solutions of the SRLW equation. Recently, Bekir [7] obtained some the solitary and periodic wave solutions by using  $\left(\frac{G'}{G}\right)$ -expansion method. Xu [46] used the exp-function method with the aid of Maple to obtain some periodic solutions and soliton solutions. Qawasmeh [30] has applied



sine-cosine function method to obtain exact solutions of SRLW equation. In order to start off with the solution hypothesis, the following ansatz is assumed,

$$u(x,t) = \lambda \tanh^p \tau, \tag{2.2}$$

and

$$\tau = B(x - vt), \tag{2.3}$$

where  $\lambda$  and B are the free parameters and v is the velocity of the soliton, respectively. These will be determined. The exponent p is also unknown.

From (2.2) it is possible to obtain

$$u_{tt} = pv^2 \lambda B^2 \{ (p-1) \tanh^{p-2} \tau - 2p \tanh^p \tau + (p+1) \tanh^{p+2} \tau \}, \qquad (2.4)$$

$$u_{xx} = p\lambda B^2 \left\{ (p-1) \tanh^{p-2} \tau - 2p \tanh^p \tau + (p+1) \tanh^{p+2} \tau \right\},$$
(2.5)

$$uu_{xt} = -\lambda^2 p v B^2 \left\{ (p-1) \tanh^{2p-2} \tau - 2p \tanh^{2p} \tau + (p+1) \tanh^{2p+2} \tau \right\},$$
(2.6)

$$u_x u_t = -p^2 \lambda^2 B^2 v \{ \tanh^{2p+2} \tau - 2 \tanh^{2p} \tau + \tanh^{2p-2} \tau \},$$
(2.7)

$$u_{xxtt} = p\lambda B^4 v^2 \left\{ \begin{array}{l} (p-1)(p-2)(p-3) \tanh^{p-4} \tau \\ -4(p-1)(p^2 - 2p + 2) \tanh^{p-2} \tau \\ +2p(p^2 + 5) \tanh^p \tau \\ -4(p+1)(p^2 + 2p + 2) \tanh^{p+2} \tau \\ +(p+1)(p+2)(p+3) \tanh^{p+4} \tau \end{array} \right\},$$
(2.8)



where 
$$\tau = B(x - vt)$$
. Substituting (2.4)–(2.8) into (2.1), gives  
 $pv^2 \lambda B^2 \{(p-1) \tanh^{p-2} \tau - 2p \tanh^p \tau + (p+1) \tanh^{p+2} \tau \}$   
 $+p\lambda B^2 \{(p-1) \tanh^{p-2} \tau - 2p \tanh^p \tau + (p+1) \tanh^{p+2} \tau \}$   
 $-\lambda^2 pv B^2 \{(p-1) \tanh^{2p-2} \tau - 2p \tanh^{2p} \tau + (p+1) \tanh^{2p+2} \tau \}$   
 $-p^2 \lambda^2 B^2 v \{ \tanh^{2p+2} \tau - 2 \tanh^{2p} \tau + \tanh^{2p-2} \tau \}$   
 $+p(p-1)(p-2)(p-3)\lambda B^4 v^2 \tanh^{p-4} \tau$   
 $-4\lambda B^4 v^2 p(p-1)(p^2 - 2p + 2) \tanh^{p-2} \tau$   
 $+p\lambda B^4 v^2 \{2p(p^2 + 5) \tanh^p \tau - 4(p+1)(p^2 + 2p + 2) \tanh^{p+2} \tau + (p+1)(p+2)(p+3) \tanh^{p+4} \tau \} = 0$ 
(2.9)

Now, from (2.9) equating the exponents of  $\tanh^{2p+2} \tau$  and  $\tanh^{p+4} \tau$  gives,

$$2p + 2 = p + 4, (2.10)$$

so that

$$p = 2. \tag{2.11}$$

It needs to be noted that the same value of p is yielded when the exponents pairs 2p and p+2, 2p-2 and p are equated with each other. Hence setting their respective coefficients to zero yields a set of algebraic equations:

$$pv^{2}\lambda B^{2}(p-1) + p\lambda B^{2}(p-1) - 4\lambda B^{4}v^{2}p(p-1)(p^{2}-2p+2) = 0, \qquad (2.12)$$

$$-\lambda^2 p v B^2(p+1) - p^2 \lambda^2 B^2 v + p(p+1)(p+2)(p+3)\lambda B^4 v^2 = 0, \qquad (2.13)$$

$$p(p+1)v^{2}\lambda B^{2} + p(p+1)\lambda B^{2} - 4p(p+1)(p^{2} + 2p + 2)\lambda B^{4}v^{2} + 2p^{2}\lambda^{2}vB^{2} + 2p^{2}\lambda^{2}B^{2}v = 0.$$
(2.14)

If we put p = 2 in (2.12)-(2.14) the system reduces to;

$$2\lambda B^2 + 2v^2 \lambda B^2 - 16\lambda B^4 v^2 = 0, \qquad (2.15)$$

$$120\lambda B^4 v^2 - 10\lambda^2 B^2 v = 0, (2.16)$$

$$6v^2\lambda B^2 + 16\lambda^2 v B^2 + 6\lambda B^2 - 240\lambda B^4 v^2 = 0.$$
 (2.17)



Solving the above equation (2.15), it yields

$$B = \pm \frac{\sqrt{2 + 2v^2}}{4v},$$
(2.18)

Solving Eq. (2.16) by using (2.18) we get

$$\lambda = \frac{3+3v^2}{2v}.\tag{2.19}$$

Hence, finally, the topological solution solution to (2.1) is given by

$$u(x,t) = \frac{3+3v^2}{2v} \tanh^2 \left( \pm \frac{\sqrt{2+2v^2}}{4v} (x-vt) \right),$$
(2.20)

which exist provided that  $v \neq 0$ .

**Remark 1:** Comparing our results with Qawasmeh's and Xu's [30, 46] results, it can be seen that the results are new.

## 3. The Shallow Water Wave Equations

In [10, 43] the (2+1)- dimensional shallow water wave equations

$$u_{yt} + u_{xxxy} - 3u_{xx}u_y - 3u_xu_{xy} = 0, (3.1)$$

and

$$u_{xt} + u_{xxxy} - 2u_{xx}u_y - 4u_xu_{xy} = 0, (3.2)$$

were studied. Both equations reduce to the potential KdV equation for y = x. The difference between the two models (3.1) and (3.2) is that x replaces y in the term  $u_{yt}$  and in the coefficients of the other terms.

In [10, 43, 44] the (3+1)- dimensional shallow water wave equations

$$u_{yzt} + u_{xxxyz} - 6u_x u_{xyz} - 6u_{xz} u_{xy} = 0, (3.3)$$

and

$$u_{xzt} + u_{xxxyz} - 2(u_{xx}u_{yz} + u_yu_{xxz}) - 4(u_xu_{xyz} + u_{xz}u_{xy}) = 0,$$
(3.4)

were also studied. Both equations reduce to the potential KdV equation for z = y = x. The difference between the first terms of the two models is that x replaces y in the term  $u_{yzt}$ .

The studies about Eqs. (3.1)-(3.4) in [10,43,44], and some of the references therein were to show that each model is completely integrable and each one gives rice to multiple soliton solutions.



In this work, we will introduce four extended shallow water wave equations in (2+1) and (3+1) dimensions that were extended by Wazwaz [45]

$$u_{yt} + u_{xxxy} - 3u_{xx}u_y - 3u_xu_{xy} + \alpha u_{xy} = 0, ag{3.5}$$

$$u_{xt} + u_{xxxy} - 2u_{xx}u_y - 4u_xu_{xy} + \alpha u_{xy} = 0, ag{3.6}$$

$$u_{yzt} + u_{xxxyz} - 6u_x u_{xyz} - 6u_{xz} u_{xy} + \alpha u_{xyz} = 0, ag{3.7}$$

and

$$u_{xzt} + u_{xxxyz} - 2(u_{xx}u_{yz} + u_yu_{xxz}) - 4(u_xu_{xyz} + u_{xz}u_{xy}) + \alpha u_{xyz} = 0.$$
(3.8)

The extended equations are established by adding the derivative of u(x,t) with respect to the space variables x and y for the first two equations (3.1) and (3.2), and with respect to the space variables x, y and z for the last two equations (3.3) and (3.4). In [4], Bekir and Aksoy studied the exact solutions which include hyperbolic functions, trigonometric and rational functions for Eqs. (3.5) and (3.6) by the  $\left(\frac{G'}{G}\right)$ -expansion method.

Now, we will study the extended (3+1)-dimensional shallow water wave Eq. (3.7) and topological soliton solution of this equation will be obtained. The following ansatz is assumed,

$$u(x, y, z, t) = \lambda \tanh^p \tau, \tag{3.9}$$

and choosing now a suitable solitary wave ansatz with (3+1) dependent variables of the form

$$\tau = ax + by + cz - vt, \tag{3.10}$$

where  $\lambda, a, b$  and c are unknown free parameters and v is the velocity of the soliton,

that will be determined. The exponent p is also unknown.

From Eqs. (3.9) and (3.10), we have:

$$u_{yzt} = -p(p-1)(p-2)\lambda vbc \tanh^{p-3} \tau + \{p(p-1)(p-2) + 2p^3\} \lambda vbc \tanh^{p-1} \tau - \{p(p+1)(p+2) + 2p^3\} \lambda vbc \tanh^{p+1} \tau + p(p+1)(p+2)\lambda vbc \tanh^{p+3} \tau,$$
(3.11)

C M D E

$$\begin{aligned} u_{xxxyz} &= p(p-1)(p-2)(p-3)(p-4)\lambda a^{3}bc \tanh^{p-5}\tau \\ &-p(p+1)(p+2)(p+3)(p+4)\lambda a^{3}bc \tanh^{p+5}\tau \\ &-p(p-1)(p-2)\left[2p^{2}+2(p-2)^{2}+(p-3)(p-4)\right]\lambda a^{3}bc \tanh^{p-3}\tau \\ &+p(p+1)(p+2)\left[2p^{2}+2(p+2)^{2}+(p+3)(p+4)\right]\lambda a^{3}bc \tanh^{p+3}\tau \\ &+\left\{\begin{array}{c} 2p(p-1)(p-2)\left[p^{2}+(p-2)^{2}\right] \\ &+4p^{5}+p^{2}(p-1)^{2}(p-2)+p^{2}(p+1)^{2}(p+2)\end{array}\right\}\lambda a^{3}bc \tanh^{p-1}\tau \\ &-\left\{\begin{array}{c} 2p(p+1)(p+2)\left[p^{2}+(p+2)^{2}\right] \\ &+4p^{5}+p^{2}(p-1)^{2}(p-2)+p^{2}(p+1)^{2}(p+2)\end{array}\right\}\lambda a^{3}bc \tanh^{p+1}\tau \end{aligned} (3.12) \\ &u_{x}u_{xyz}=p^{2}(p-1)(p-2)\lambda^{2}a^{2}bc \tanh^{2p-4}\tau \\ &-\left\{2p^{2}(p-1)(p-2)+2p^{4}\right\}\lambda^{2}a^{2}bc \tanh^{2p-2}\tau \\ &+\left\{2p^{2}(p^{2}+2)+4p^{4}\right\}\lambda^{2}a^{2}bc \tanh^{2p+2}\tau \\ &+\left\{2p^{2}(p+1)(p+2)+2p^{4}\right\}\lambda^{2}a^{2}bc \tanh^{2p+2}\tau \\ &+p^{2}(p+1)(p+2)\lambda^{2}a^{2}bc \tanh^{2p+4}\tau, \end{aligned} \end{aligned}$$

$$u_{xz}u_{xy} = p^{2}(p-1)^{2}\lambda^{2}a^{2}bc \tanh^{2p-4}\tau - p^{2}(4p^{2}-4p)\lambda^{2}a^{2}bc \tanh^{2p-2}\tau + p^{2}(6p^{2}-2)\lambda^{2}a^{2}bc \tanh^{2p}\tau - p^{2}(4p^{2}+4p)\lambda^{2}a^{2}bc \tanh^{2p+2}\tau + p^{2}(p+1)^{2}\lambda^{2}a^{2}bc \tanh^{2p+4}\tau,$$
(3.14)

$$u_{xyz} = p(p-1)(p-2)\lambda abc \tanh^{p-3} \tau - \{p(p-1)(p-2) + 2p^3\} \lambda abc \tanh^{p-1} \tau + \{p(p+1)(p+2) + 2p^3\} \lambda abc \tanh^{p+1} \tau - p(p+1)(p+2)\lambda abc \tanh^{p+3} \tau,$$
(3.15)



where 
$$\tau = ax + by + cz - vt$$
. Substituting Eqs. (3.9)-(3.15) into Eq.(3.7), we obtain  
 $-p(p-1)(p-2)\lambda vbc \tanh^{p-3} \tau + \left\{ p(p-1)(p-2) + 2p^3 \right\} \lambda vbc \tanh^{p-1} \tau$   
 $- \left\{ p(p+1)(p+2) + 2p^3 \right\} \lambda vbc \tanh^{p+1} \tau + p(p+1)(p+2)\lambda vbc \tanh^{p+3} \tau$   
 $+p(p-1)(p-2)(p-3)(p-4)\lambda a^3 bc \tanh^{p+5} \tau$   
 $-p(p+1)(p+2)(p+3)(p+4)\lambda a^3 bc \tanh^{p+5} \tau$   
 $-p(p-1)(p-2) \left[ 2p^2 + 2(p-2)^2 + (p-3)(p-4) \right] \lambda a^3 bc \tanh^{p-3} \tau$   
 $+p(p+1)(p+2) \left[ 2p^2 + 2(p+2)^2 + (p+3)(p+4) \right] \lambda a^3 bc \tanh^{p+3} \tau$   
 $+ \left\{ \begin{array}{c} 2p(p-1)(p-2) \left[ p^2 + (p-2)^2 \right] + 4p^5 \\ +p^2(p-1)^2(p-2) + p^2(p+1)^2(p+2) \end{array} \right\} \lambda a^3 bc \tanh^{p-1} \tau$   
 $- \left\{ \begin{array}{c} 2p(p+1)(p+2) \left[ p^2 + (p+2)^2 \right] + 4p^5 \\ +p^2(p-1)^2(p-2) + p^2(p+1)^2(p+2) \end{array} \right\} \lambda a^3 bc \tanh^{p+1} \tau$   
 $- 6p^2(p-1)(p-2) \lambda^2 a^2 bc \tanh^{2p-4} \tau$   
 $+ 6 \left\{ 2p^2(p-1)(p-2) + 2p^4 \right\} \lambda^2 a^2 bc \tanh^{2p-2} \tau$   
 $- 6 \left\{ 2p^2(p+1)(p+2) + 2p^4 \right\} \lambda^2 a^2 bc \tanh^{2p+2} \tau$   
 $- 6p^2(p+1)(p+2) \lambda^2 a^2 bc \tanh^{2p+4} \tau - 6p^2(p-1)^2 \lambda^2 a^2 bc \tanh^{2p-4} \tau$   
 $+ 6p^2(4p^2-4p)\lambda^2 a^2 bc \tanh^{2p-2} \tau - 6p^2(p+1)^2 \lambda^2 a^2 bc \tanh^{2p-4} \tau$   
 $+ 6p^2(4p^2-4p)\lambda^2 a^2 bc \tanh^{2p-2} \tau - 6p^2(p+1)^2 \lambda^2 a^2 bc \tanh^{2p-4} \tau$   
 $+ 6p^2(4p^2-4p)\lambda^2 a^2 bc \tanh^{2p-2} \tau - 6p^2(p+1)^2 \lambda^2 a^2 bc \tanh^{2p-4} \tau$   
 $+ 6p^2(4p^2+4p)\lambda^2 a^2 bc \tanh^{2p-2} \tau - 6p^2(p+1)^2 \lambda^2 a^2 bc \tanh^{2p-4} \tau$   
 $+ 6p^2(4p^2+4p)\lambda^2 a^2 bc \tanh^{2p-2} \tau - 6p^2(p+1)(p-2) + 2p^3 \right\} \lambda abc \tanh^{p-1} \tau$ 

$$+\alpha \left\{ p(p+1)(p+2) + 2p^3 \right\} \lambda abc \tanh^{p+1} \tau - \alpha p(p+1)(p+2)\lambda abc \tanh^{p+3} \tau,$$
(3.16)

Thus, from matching the exponents of  $\tanh^{2p+4} \tau$  and  $\tanh^{p+5} \tau$  terms in Eq (3.16), we obtain

$$2p + 4 = p + 5, (3.17)$$

which yields

$$p = 1. \tag{3.18}$$

It needs to be noted that the same value of p is yielded when the exponents pairs 2p+2 and p+3, 2p and p+1, 2p-2 and p-1, 2p-4 and p-3 are equated with each other. Thus (47) has the linearly independent functions  $\tanh^{p+j} \tau$  for  $j = \pm 1, \pm 3$  and  $\tanh^{2p+k} \tau$  for  $k = 0, \pm 2, \pm 4$ .Now,  $\tanh^{p-5} \tau$  is a stand alone linearly independent function. Therefore setting its coefficients to zero also yields the same value of p as in (3.18) Hence setting their respective coefficients to zero which gives the following set of equations:

$$-p(p+1)(p+2)(p+3)(p+4)\lambda a^{3}bc - 6p^{2}(p+1)^{2}\lambda^{2}a^{2}bc$$
  
$$-6p^{2}(p+1)(p+2)\lambda^{2}a^{2}bc = 0,$$
 (3.19)

$$p(p+1)(p+2)\lambda vbc$$

$$+p(p+1)(p+2)\left[2p^{2}+2(p+2)^{2}+(p+3)(p+4)\right]\lambda a^{3}bc$$

$$+6\left\{2p^{2}(p+1)(p+2)+2p^{4}\right\}\lambda^{2}a^{2}bc+6p^{2}(4p^{2}+4p)\lambda^{2}a^{2}bc$$

$$-\alpha p(p+1)(p+2)\lambda abc=0$$
(3.20)

$$-\left\{p(p+1)(p+2)+2p^{3}\right\}\lambda vbc$$
  
-
$$\left\{2p(p+1)(p+2)\left[p^{2}+(p+2)^{2}\right]+4p^{5}+p^{2}(p-1)^{2}(p-2)+p^{2}(p+1)^{2}(p+2)\right\}\lambda a^{3}bc$$
  
-
$$6\left\{2p^{2}(p^{2}+2)+4p^{4}\right\}\lambda^{2}a^{2}bc-6p^{2}(6p^{2}-2)\lambda^{2}a^{2}bc+\alpha\left\{p(p+1)(p+2)+2p^{3}\right\}\lambda abc$$

$$=0,$$
 (3.21)

$$\left\{ p(p-1)(p-2) + 2p^{3} \right\} \lambda v b c + \left\{ \begin{array}{c} 2p(p-1)(p-2) \left[ p^{2} + (p-2)^{2} \right] + 4p^{5} \\ + p^{2}(p-1)^{2}(p-2) + p^{2}(p+1)^{2}(p+2) \end{array} \right\} \lambda a^{3} b c + 6 \left\{ 2p^{2}(p-1)(p-2) + 2p^{4} \right\} \lambda^{2} a^{2} b c + 6p^{2}(4p^{2} - 4p)\lambda^{2} a^{2} b c - \alpha \left\{ p(p-1)(p-2) + 2p^{3} \right\} \lambda a b c = 0$$

$$(3.22)$$



Solving the above equation (3.19) by using (3.18), we get

$$\lambda = -2a. \tag{3.23}$$

Lastly, solving Eq. (3.20) by using (3.18) and (3.23) we obtain

$$v = a(4a^2 + \alpha).$$
 (3.24)

Hence, we can determine the topological (dark) 1-soliton solution for the extended shallow water wave equation

$$u(x, y, z, t) = -2a \tanh(ax + by + cz - a(4a^2 + \alpha)t).$$
(3.25)

Now, we present the extended (3+1)-dimensional shallow water wave Eq. (3.8) and topological soliton solution of this equation will be obtained. The following ansatz is assumed,

$$u(x, y, z, t) = \lambda \tanh^p \tau, \tag{3.26}$$

and choosing now a suitable solitary wave ansatz with (3+1) dependent variables of the form

$$\tau = ax + by + cz - vt, \tag{3.27}$$

where  $\lambda_{a}$ , b and c are unknown free parameters and v is the velocity of the soliton,

that will be determined.

From Eqs. (3.26) and (3.27), we have:

$$u_{xzt} = -p(p-1)(p-2)\lambda vac \tanh^{p-3} \tau + \{p(p-1)(p-2) + 2p^3\} \lambda vac \tanh^{p-1} \tau - \{p(p+1)(p+2) + 2p^3\} \lambda vac \tanh^{p+1} \tau + p(p+1)(p+2)\lambda vac \tanh^{p+3} \tau,$$
(3.28)

$$u_{xx}u_{yz} = p^{2}(p-1)^{2}\lambda^{2}a^{2}bc \tanh^{2p-4}\tau - p^{2}(4p^{2}-4p)\lambda^{2}a^{2}bc \tanh^{2p-2}\tau + p^{2}(6p^{2}-2)\lambda^{2}a^{2}bc \tanh^{2p}\tau - p^{2}(4p^{2}+4p)\lambda^{2}a^{2}bc \tanh^{2p+2}\tau + p^{2}(p+1)^{2}\lambda^{2}a^{2}bc \tanh^{2p+4}\tau,$$
(3.29)

236

$$u_{y}u_{xxz} = p^{2}(p-1)(p-2)\lambda^{2}a^{2}bc \tanh^{2p-4}\tau$$

$$- \left\{2p^{2}(p-1)(p-2) + 2p^{4}\right\}\lambda^{2}a^{2}bc \tanh^{2p-2}\tau$$

$$+ (6p^{4} + 4p^{2})\lambda^{2}a^{2}bc \tanh^{2p}\tau$$

$$- \left\{2p^{2}(p+1)(p+2) + 2p^{4}\right\}\lambda^{2}a^{2}bc \tanh^{2p+2}\tau$$

$$+ p^{2}(p+1)(p+2)\lambda^{2}a^{2}bc \tanh^{2p+4}\tau,$$
(3.30)

where  $\tau = ax + by + cz - vt$ . Substituting Eqs. (3.12)-(3.15) and (3.28)-(3.30) into Eq.(3.8), we obtain

$$\begin{split} &-p(p-1)(p-2)\lambda vac \tanh^{p-3}\tau + \left\{p(p-1)(p-2)+2p^3\right\}\lambda vac \tanh^{p-1}\tau \\ &-\left\{p(p+1)(p+2)+2p^3\right\}\lambda vac \tanh^{p+1}\tau + p(p+1)(p+2)\lambda vac \tanh^{p+3}\tau \\ &+p(p-1)(p-2)(p-3)(p-4)\lambda a^3bc \tanh^{p+5}\tau \\ &-p(p+1)(p+2)(p+3)(p+4)\lambda a^3bc \tanh^{p+5}\tau \\ &-p(p-1)(p-2)\left[2p^2+2(p-2)^2+(p-3)(p-4)\right]\lambda a^3bc \tanh^{p-3}\tau \\ &+p(p+1)(p+2)\left[2p^2+2(p+2)^2+(p+3)(p+4)\right]\lambda a^3bc \tanh^{p+3}\tau \\ &+\left\{\begin{array}{c}2p(p-1)(p-2)\left[p^2+(p-2)^2\right]+4p^5 \\ &+p^2(p-1)^2(p-2)+p^2(p+1)^2(p+2)\end{array}\right\}\lambda a^3bc \tanh^{p-1}\tau \\ &-\left\{\begin{array}{c}2p(p+1)(p+2)\left[p^2+(p+2)^2\right]+4p^5 \\ &+p^2(p-1)^2(p-2)+p^2(p+1)^2(p+2)\end{array}\right\}\lambda a^3bc \tanh^{p+1}\tau \\ &-2p^2(p-1)^2\lambda^2 a^2bc \tanh^{2p-4}\tau + 2p^2(4p^2-4p)\lambda^2 a^2bc \tanh^{2p-2}\tau \\ &-2p^2(6p^2-2)\lambda^2 a^2bc \tanh^{2p+4}\tau - 2p^2(p-1)(p-2)\lambda^2 a^2bc \tanh^{2p-4}\tau \\ &+2\left\{2p^2(p-1)(p-2)+2p^4\right\}\lambda^2 a^2bc \tanh^{2p+2}\tau - 2p^2(p+1)(p+2)\lambda^2 a^2bc \tanh^{2p+4}\tau \\ &+2\left\{2p^2(p+1)(p+2)+2p^4\right\}\lambda^2 a^2bc \tanh^{2p+2}\tau - 2p^2(p+1)(p+2)\lambda^2 a^2bc \tanh^{2p+4}\tau \\ &-4p^2(p-1)(p-2)\lambda^2 a^2bc \tanh^{2p-4}\tau + 4\left\{2p^2(p-1)(p-2)+2p^4\right\}\lambda^2 a^2bc \tanh^{2p-2}\tau \\ &-4p^2(p-1)(p-2)\lambda^2 a^2bc \tanh^{2p-4}\tau + 4\left\{2p^2(p-1)(p-2)+2p^4\right\}\lambda^2 a^2bc \tanh^{2p-2}\tau \\ &+2\left\{2p^2(p-1)(p-2)\lambda^2 a^2bc \tanh^{2p-4}\tau + 4\left\{2p^2(p-1)(p-2)+2p^4\right\}\lambda^2 a^2bc \tanh^{2p-4}\tau \\ &+2\left\{2p^2(p-1)(p-2)\lambda^2 a^2bc \tanh^{2p-4}\tau + 4\left\{2p^2(p-1)(p-2)+2p^4\right\}\lambda^2 a^2bc \tanh^{2p-2}\tau \\ &+2\left\{2p^2(p-1)(p-2)\lambda^2 a^2bc \tanh^{2p-4}\tau \\ &+2\left\{2$$



$$\begin{aligned} &-4\left\{2p^{2}(p^{2}+2)+4p^{4}\right\}\lambda^{2}a^{2}bc\tanh^{2p}\tau\\ &+4\left\{2p^{2}(p+1)(p+2)+2p^{4}\right\}\lambda^{2}a^{2}bc\tanh^{2p+2}\tau\\ &-4p^{2}(p+1)(p+2)\lambda^{2}a^{2}bc\tanh^{2p+4}\tau\\ &-4p^{2}(p-1)^{2}\lambda^{2}a^{2}bc\tanh^{2p-4}\tau+4p^{2}(4p^{2}-4p)\lambda^{2}a^{2}bc\tanh^{2p-2}\tau\\ &-4p^{2}(6p^{2}-2)\lambda^{2}a^{2}bc\tanh^{2p}\tau+4p^{2}(4p^{2}+4p)\lambda^{2}a^{2}bc\tanh^{2p+2}\tau\\ &-4p^{2}(p+1)^{2}\lambda^{2}a^{2}bc\tanh^{2p+4}\tau+\alpha p(p-1)(p-2)\lambda abc\tanh^{p-3}\tau\\ &-\alpha\left\{p(p-1)(p-2)+2p^{3}\right\}\lambda abc\tanh^{p-1}\tau\\ &+\alpha\left\{p(p+1)(p+2)+2p^{3}\right\}\lambda abc\tanh^{p+1}\tau\\ &-\alpha p(p+1)(p+2)\lambda abc\tanh^{p+3}\tau=0\end{aligned}$$

Thus, from matching the exponents of  $\tanh^{2p+4}\tau$  and  $\tanh^{p+5}\tau$  terms in Eq (3.31), we obtain

$$2p + 4 = p + 5, (3.32)$$

which yields

$$p = 1. \tag{3.33}$$

It needs to be noted that the same value of p is yielded when the exponents pairs 2p + 2 and p + 3, 2p and p + 1, 2p - 2 and p - 1, 2p - 4 and p - 3 are equated with each other. Thus (3.31) has the linearly independent functions  $\tanh^{p+j} \tau$  for  $j = \pm 1, \pm 3$  and  $\tanh^{2p+k} \tau$  for  $k = 0, \pm 2, \pm 4$ .Now,  $\tanh^{p-5} \tau$  is a stand alone linearly independent function. Therefore setting its coefficients to zero also yields the same value of p as in (3.33) Hence setting their respective coefficients to zero and put p = 2 which gives the following set of equations:

$$132\lambda^2 a^2 bc + 6\lambda vac + 240\lambda a^3 bc - \alpha\lambda abc = 0, \qquad (3.34)$$

$$60\lambda^2 a^2 bc + 120\lambda a^3 bc = 0, (3.35)$$

$$-136\lambda a^{3}bc - 84\lambda^{2}a^{2}bc + 8\alpha\lambda abc - 8\lambda vac = 0, \qquad (3.36)$$

$$12\lambda^2 a^2 bc - 2\alpha\lambda abc + 16\lambda a^3 bc + 2\lambda vac = 0$$

$$(3.37)$$

C M D E Solving the above equation (3.34), we get

$$v = b\alpha - 22\lambda ab - 40a^2b. \tag{3.38}$$

And we solving Eq. (3.35), we obtain

$$\lambda = -2a \tag{3.39}$$

It needs to be noted that by equating the two values of the velocity v from (3.36) and (3.37) also implies (3.38).

Thus, finally the topological soliton solution to the extended (3+1)-dimensional shallow water wave equation (3.8) is given by

$$u(x, y, z, t) = \lambda \tanh(ax + by + cz - vt), \qquad (3.40)$$

where the free parameters  $\lambda$  is given by (3.39) and the velocity v of the wave is given by (3.38).

**Remark 2:** Comparing our results with Wazwaz's [45] results, it can be seen that the results are new.

**Remark 3:** Similarly, for the extended (2+1)-dimensional shallow water wave equations, using the wave variable

$$\tau = ax + by - vt, \tag{3.41}$$

Eqs. (3.5) and (3.6) and the ansatz method is applied to these equations, it can be seen that the obtained solutions are the same with solutions of Equations (3.7) and (3.8), respectively.

### 4. Conclusions

We have derived the exact topological soliton solutions of the three nonlinear equations. The 1-soliton solution is obtained by solitary wave ansatz method. With the aid of Maple, it is confirmed that the solutions are correct since these solutions satisfy the original equation. To our knowledge, these new solutions have not been reported in former literature. In view of the analysis, we see that the used method is an efficient method of integrability for constructing exact soliton solutions.

### References

- M.A. Abdou, The extended F-expansion method and its application for a class of nonlinear evolution equations, Chaos, Solitons and Fractals, 31 (2007) 95-104.
- [2] M.J. Ablowitz, H. Segur, Solitons and inverse scattering transform, Philadelphia: SIAM (1981).



- [3] M.J. Ablowitz, P.A. Clarkson, Solitons, nonlinear evolution equations and inverse scattering transform. Cambridge: Cambridge University Press; 1990.
- [4] A. Bekir, E. Aksoy, Exact solutions of shallow water wave equations by using the  $\left(\frac{G'}{G}\right)$ expansion method, Waves in Random and Complex Media, 22 3 (2012) 317–331.
- [5] A. Bekir, New solitons and periodic wave solutions for some nonlinear physical models by using the sine-cosine method, Physica Scripta, 77, 4 (2008) 501-504.
- [6] A. Bekir, Application of the (<sup>G'</sup>/<sub>G</sub>)-expansion method for nonlinear evolution equations, Physics Letters A, 372 19 (2008) 3400-3406.
- [7] A. Bekir, A.C. Cevikel, New exact travelling wave solutions of nonlinear physical models, Chaos, Solitons and Fractals, 41 (2009) 1733–1739.
- [8] A. Bekir, O. Guner, Bright and dark soliton solutions of the (3 + 1)-dimensional generalized Kadomtsev–Petviashvili equation and generalized Benjamin equation Pramana – J. Phys., 81 (2013) 203-214.
- [9] A. Biswas, H. Triki, M. Labidi, Bright and Dark Solitons of the Rosenau-Kawahara Equation with Power Law Nonlinearity, Physics of Wave Phenomena, 19 1 (2011) 24–29.
- [10] P.A. Clarkson, E.L. Mansfield, On a shallow water wave equation, Nonlinearity, 7 3 (1994) 975.
- [11] G. Ebadi, A. Biswas, The  $\left(\frac{G'}{G}\right)$  method and 1-soliton solution of the Davey–Stewartson equation, Mathematical and Computer Modelling, 53 5–6 (2011) 694-698.
- [12] S.A. El-Wakil, M.A. Abdou, New exact travelling wave solutions using modified extended tanhfunction method, Chaos, Solitons & Fractals, 31, 4 (2007) 840-852.
- [13] E. Fan, Extended tanh-function method and its applications to nonlinear equations, Phys. Lett. A, 277 (2000) 212-218.
- [14] E. Fan, H. Zhang, A note on the homogeneous balance method, Phys. Lett. A, 246 (1998) 403-406.
- [15] E. Fan, J. Zhang, Applications of the Jacobi elliptic function method to special-type nonlinear equations, Phys. Lett. A, 305 (2002) 383-392.
- [16] Z.S. Feng, The first integral method to study the Burgers-KdV equation, J. Phys. A: Math. Gen., 35 (2002) 343-349.
- [17] O. Guner, A. Bekir, A.C. Cevikel, Dark soliton and periodic wave solutions of nonlinear evolution equations, Advances in Difference Equations, 2013 (2013) 68.
- [18] B.L. Guo, The spectral method for symmetric regularized wave equations, J. Comp. Math., 5 4 (1987) 297–306.
- [19] B.L. Guo, The existence of global solution and "blow up" phenomenon for a system of multidimensional symmetric regularized wave equations, Acta Mathematicae Applicatae Sinica, 8 1 (1992) 59–72.
- [20] J.H. He, X.H. Wu, Exp-function method for nonlinear wave equations, Chaos, Solitons and Fractals, 30 (2006) 700-708.
- [21] J. Hu, Y. Xu, B. Hu, A Linear Difference Scheme for Dissipative Symmetric Regularized Long Wave Equations with Damping Term, Boundary Value Problems, 2010 (2010) 781750.
- [22] Y.S. Kivshar, G.P. Agarwal, Optical Solitons: From Fibers to Photonic Crystal, Academic, San Diego, 2003.
- [23] S. Liu, Z. Fu, S. Liu, Q. Zhao, Jacobi elliptic function expansion method and periodic wave solutions of nonlinear wave equations, Phys. Lett. A, 289 (2001) 69-74.



- [24] A.I. Maimistov, Completely integrable models of nonlinear optics, Pramana J. Phys., 57 (5–6) (2001) 953–968.
- [25] W. Malfliet, Solitary wave solutions of nonlinear wave equations, Am. J. Phys., 60 (1992) 650-654.
- [26] W. Malfliet, W. Hereman, The tanh method. I: Exact solutions of nonlinear evolution and wave equations, Physica Scripta, 54 (1996) 563-568.
- [27] H. Naher, F.A. Abdullah, M.A. Akbar, New Traveling Wave Solutions of the Higher Dimensional Nonlinear Partial Differential Equation by the Exp-Function Method, Journal of Applied Mathematics, 2012 (2012) 575387.
- [28] K. Nakkeeran, Bright and dark optical solitons in fiber media with higher-order effects, Chaos, Solitons Fractals, 13 (2002) 673–679.
- [29] S.L. Palacios, J.M. Fernandez-Diaz, Black optical solitons for media with parabolic nonlinearity law in the presence of fourth order dispersion, Opt. Commun. 178 (2000) 457–460.
- [30] A. Qawasmeh, Soliton solutions of (2+1)-Zoomeron equation and Duffing equation and SRLW equation, J. Math. Comput. Sci., 3 6 (2013) 1475-1480.
- [31] M. Saha, A.K. Sarma, A. Biswas, Dark optical solitons in power law media with time-dependent coefficients, Physics Letters A 373 (2009) 4438–4441.
- [32] M.M. Scott, M.P. Kostylev, B.A. Kalinikos, C.E. Patton, Excitation of bright and dark envelope solitons for magnetostatic waves with attractive nonlinearity, Phys. Rev. B, 71 (174440) (2005) 1–4.
- [33] C.E. Seyler, D.L. Fenstermacher, A symmetric regularized long wave equation. Phys Fluid, 27 (1984) 4–7.
- [34] N. Taghizadeh, M. Mirzazadeh, The first integral method to some complex nonlinear partial differential equations, Journal of Computational and Applied Mathematics, 235 16 (2011) 4871-4877.
- [35] H. Triki, M.S. Ismail, Soliton solutions of a BBM(m, n) equation with generalized evolution, Applied Mathematics and Computation, 217 1 (2010) 48-54.
- [36] H. Triki, A.M. Wazwaz, Dark solitons for a combined potential KdV and Schwarzian KdV equations with t-dependent coefficients and forcing term, Applied Mathematics and Computation, 217 (2011) 8846–8851.
- [37] H. Triki, A.M. Wazwaz, Bright and dark soliton solutions for a K(m,n) equation with tdependent coefficients. Phys. Lett. A 373 (2009) 2162–2165.
- [38] M.L. Wang, Exact solutions for a compound KdV-Burgers equation, Phys. Lett. A, 213 (1996) 279-287.
- [39] M.L. Wang, X. Li, J. Zhang, The  $\left(\frac{G'}{G}\right)$ -expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, Physics Letters A, 372 4 (2008) 417-423.
- [40] A.M. Wazwaz, The tanh method for travelling wave solutions of nonlinear equations, Applied Mathematics and Computation, 154, 3 (2004) 713-723.
- [41] A.M Wazwaz, The extended tanh method for new soliton solutions for many forms of the fifthorder KdV equations, Applied Mathematics and Computation, 184, 2 (2007) 1002-1014.
- [42] A.M Wazwaz, A sine-cosine method for handling nonlinear wave equations, Mathematical and Computer Modelling, 40 (2004) 499-508.



- [43] A.M. Wazwaz, Multiple soliton solutions and multiple-singular soliton solutions for two higherdimensional shallow water wave equations, Applied Mathematics and Computation, 211 2 (2009) 495-501.
- [44] A.M. Wazwaz, Multiple soliton solutions and multiple-singular soliton solutions for (2+1)dimensional shallow water wave equations, Phys. Lett. A, 373 33 (2009) 2927-2930.
- [45] A.M. Wazwaz, Multiple-soliton solutions for extended shallow water wave equations, Studies in Mathematical Sciences, 1 (2010) 21-29.
- [46] F. Xu, Application of Exp-function method to symmetric regularized long wave (SRLW) equation, Phys Lett A, 372 3 (2008) 252–257.
- [47] J.L. Zhang, M.L. Wang, Y.M. Wang, Z.D. Fang, The improved F-expansion method and its applications, Phys. Lett. A, 350 (2006) 103-109.
- [48] J.D. Zheng, R.F. Zhang, B.Y. Guo, The Fourier pseudo-spectral method for the SRLW equation, Applied Mathematics and Mechanics, 10 9 (1989) 801–810 (Chinese).

